

#### AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



**UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES** 

PARTIAL DERIVATIVES

4. FUNCTIONS OF SEVERAL VARIABLE PARTIAL DIFFERENTIATION. let U = f(x, y) be a function of two independent variables. Differentiate U wirit 'x', considering y' as constant This is known as partial differential coefficient of U w. r.t x. It is denoted by <u>Du</u> similarly, if ur differtiate U wirit y, considering 'x' a constant is known as partial differential coefficient of U wint y. It is denoted as <u>DU</u> Dy 1. Find the 1st and 2nd derivative of  $U = \chi^3 + \chi^3 - 3\alpha\chi\gamma$ Ist order  $\frac{\partial f_{\text{R}}}{\partial x} = 3x^2 - 3ay$ 



### AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES

$$\frac{\partial U}{\partial y} = 3y^{2} - 3ax$$

$$\boxed{II} \text{ nd } 0 \text{ Aden.}$$

$$\frac{\partial^{2} U}{\partial x^{2}} = 6x$$

$$\frac{\partial^{2} U}{\partial x \partial y^{2}} = 6y$$

$$\frac{\partial^{2} U}{\partial y \partial x} = \frac{\partial}{\partial y} \left(\frac{\partial U}{\partial y}\right) = -3a$$

$$\frac{\partial^{3} U}{\partial x \partial y^{2}} = 6y$$

$$\frac{\partial^{2} U}{\partial y \partial x} = \frac{\partial}{\partial y} \left(\frac{\partial U}{\partial x}\right) = -3a$$

$$\frac{\partial U}{\partial x} = (1)e^{-y} + ye^{x} (1) = e^{-y} + ye^{x}$$

$$\frac{\partial U}{\partial y} = xe^{-y}(1) + (1)e^{-x} = e^{-x}e^{-y} + e^{x}$$

$$\underbrace{\frac{\partial U}{\partial y}} = xe^{-y}(1) + (1)e^{-x} = e^{-x}e^{-y} + e^{-x}$$

$$\underbrace{\frac{\partial U}{\partial x}} = \frac{\partial^{2} r}{\partial x^{2}} + \frac{\partial^{2} r}{\partial y^{2}} + \frac{\partial^{2} r}{\partial z^{2}} = \frac{2}{r}$$

$$(x - a)^{2} + (y - b)^{2} + (z - c)^{2} = r^{2}$$

$$\underbrace{\frac{\partial U}{\partial x}} = (x - a) = xr \frac{\partial r}{\partial x}$$

$$\underbrace{\frac{\partial T}{\partial x}} = \frac{x - a}{r}$$



### AN AUTONOMOUS INSTITUTION

**COIMBATORE – 641035.** 



### UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES



#### AN AUTONOMOUS INSTITUTION

COIMBATORE - 641035.



**UNIT-4 FUNCTIONS OF SEVERAL VARIABLES** PARTIAL DERIVATIVES  $\frac{\partial^2 r}{\partial z^2} = \frac{r - (z - c)(\frac{z - c}{r})}{r^2}$  $=\frac{r}{r^2}-\frac{(z-c)^2}{r^3}$  $\frac{\partial^2 r}{\partial z^2} = \frac{1}{r} - \frac{(z-c)^2}{r^3} - 3$ 0+0+3  $\frac{\partial^2 r}{\partial x^2} + \frac{\partial^2 r}{\partial y^2} + \frac{\partial^2 r}{\partial x^2} = \frac{1}{r} - \frac{(x-a)^2}{r^3} + \frac{1}{r} - \frac{(y-b)^2}{r^3}$  $+\frac{1}{1} - (z-c)^{2}$  $=\frac{3}{r}-\frac{1}{r^{3}}\left[(a-a)^{2}+(y-b)^{2}+(z-c)^{2}\right]$  $=\frac{3}{r}-\frac{1}{r^3}(r^2)$  $=\frac{3}{t}-\frac{1}{t}$  $\frac{\partial^2 r}{\partial \chi^2} + \frac{\partial^2 r}{\partial y^2} + \frac{\partial^2 r}{\partial z^2} = \frac{2}{r}$ Hence proved. )4. If z = f(x + ct) + g(z - ct) then prove  $\frac{\partial^2 z}{\partial t^2} = \frac{c^2 \partial^2 z}{\partial^2 b x^2}$ 



### AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES

$$z = f(z+ct) + g(z-ct) = 0$$

$$p_{2}f(0) w_{n,t} t$$

$$\frac{\partial z}{\partial t} = f'(x+ct)(c) + g'(x-ct)(-c)$$
Again diff:
$$\frac{\partial^{2} z}{\partial t^{2}} = f''(x+ct)(c)(c) + g''(x-ct)(-c)(-c)$$

$$= c^{2} [f''(x+ct) + g''(x-ct)] = 0$$

$$Diff(0) w_{n,t} = z$$

$$\frac{\partial z}{\partial x} = f''(x+ct)(i) + g''(z-ct)(i)$$
Again diff:
$$\frac{\partial^{2} z}{\partial x^{2}} = f''(x+ct) + g''(x-ct) = 0$$
From (2)  $z$  (3)
$$\frac{\partial^{2} z}{\partial t^{2}} = c^{2} - \frac{\partial^{2} z}{\partial z^{2}}$$
5. Vusity that  $v_{ay} = v_{yx}$ 

$$u = tan^{-1} [\frac{w_{ay}}{w_{ay}}(\frac{x}{y})]$$

$$= \frac{1}{1+z^{2}}$$



AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



### UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES

$$\begin{aligned} U_{x} = \frac{1}{1 + \left(\frac{x}{y}\right)^{2}} \frac{1}{y} \\ = \frac{1}{y^{2} + x^{2}} \frac{1}{y} \\ = \frac{1}{y^{2} + y^{2}} \frac{1}{y} \\ = \frac{y^{2}}{x^{2} + y^{2}} \frac{1}{y} \\ U_{x} = \frac{y^{2}}{x^{2} + y^{2}} \frac{1}{y} \\ U_{x} = \frac{y^{2}}{x^{2} + y^{2}} \frac{-0}{y} \\ U_{y} = \frac{1}{1 + \left(\frac{x}{y}\right)^{2}} \left(\frac{-x}{y^{2}}\right) \\ = \frac{1}{x^{2} + y^{2}} \left(\frac{-x}{y^{2}}\right) \\ = \frac{y^{2}}{x^{2} + y^{2}} \left(\frac{-x}{y^{2}}\right) \\ U_{y} = \frac{-x}{x^{2} + y^{2}} \left(\frac{-x}{y^{2}}\right) \\ U_{y} = \frac{-x}{x^{2} + y^{2}} \frac{-2}{y} \\ D_{y} = \frac{-x}{x^{2} + y^{2}} \frac{-2}{y} \\ D_{y} = \frac{-x}{x^{2} + y^{2}} \frac{-2}{y} \\ = -\left[\frac{x^{2} + y^{2} - 2x^{2}}{(x^{2} + y^{2})^{2}}\right] \\ = -\left[\frac{x^{2} + y^{2} - 2x^{2}}{(x^{2} + y^{2})^{2}}\right] \end{aligned}$$



AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES

$$= -\left[\frac{y^{1} - x^{2}}{(x^{2} + y^{2})^{2}}\right]$$

$$U_{2}y = \frac{x^{2} - y^{2}}{(x^{2} + y^{2})^{2}} - (3)$$

$$D_{4}y = \left[\frac{(x^{2} + y^{2})(1) - y(2y)}{(x^{2} + y^{2})^{2}}\right]$$

$$= \left[\frac{x^{2} + y^{2} - 2y^{2}}{(x^{2} + y^{2})^{2}}\right]$$

$$U_{3}x = \left[\frac{x^{2} - y^{2}}{(x^{2} + y^{2})^{2}} - (9)\right]$$

$$V_{3}y = U_{3}x$$
Hence quoved.  
6. If  $v = e^{xy}$ , prior  $U_{xx} + U_{3}y = \int [U_{x}^{2} + U_{3}^{2}]$ 

$$U_{x} = y e^{xy} - (9)$$

$$U_{x} = y e^{xy} - (9)$$

$$U_{xx} = y e^{xy} - (9)$$



AN AUTONOMOUS INSTITUTION

COIMBATORE – 641035.



UNIT- 4 FUNCTIONS OF SEVERAL VARIABLES

PARTIAL DERIVATIVES

$$\begin{aligned} y_{y} &= x e^{xy} \\ y_{y} &= x e^{xy} (x) \\ y_{y} &= x^{2} e^{xy} (-2) \\ 0 &= x e^{xy} (-$$